track dz (cm)

| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

20
track dz (cm)

syoen

20
track dz (cm)

R= 3
£
O
R
o
x
oo -
S —
S | o
w" e =1
L
8
[S) £ o
5
g
[fe]
1 = =
; 7
o 2
i 5
g o
o g IN
— 3 )
! 8
o 8 o
N g I
) 8 i
3
z
o _. o
N (s2]
£
&)
A
>
x
Od
x
-3
o = 2
o o
i =
o |
—
! o
[Te} N
B )
|
o o
= i
syoel axey oney
R= 3
£
O
oS
— >
x
Od
X
S —
g s S
1o o
2
L
(=) 8 o
€
[fe] =
i [ o
o |5 0
T
< o
i) B N
i 8 !
| ]
3
I=) 2 o
£ ¢ 5P
S S S

o o
L= [~
£ £
&) O
S ~
= Lo
© x
o
1k [5]
[} ©
o o =
EJT. i
o o
O
I | =1
S A
(=] 4
— >
! 3 o
e) | Y
- 5 )
] (=}
3
= ¢ 2
] 01 5 ]
3 o z =]

syoeln oney

syoen




	Contents
	Page 1


